Mask Slash!  Subnetsize #hosts®> 1% subnet 2" subnet 3" subnet
255.255.255.255 /32 - 1 130.144.0.0 130.144.0.1 130.144.0.2
255.255.255.254 - - - - - -
255.255.255.252 /30 2 bits 2 130.144.0.0 130.144.0.4 130.144.0.8
255.255.255.248 /29 3 bits 6 130.144.0.0 130.144.0.8 130.144.0.16
255.255.255.240 /28 4 bits 14 130.144.0.0 130.144.0.16 130.144.0.32
255.255.255.224 /27 5 bits 30 130.144.0.0 130.144.0.32 130.144.0.64
255.255.255.192 /26 6 bits 62 130.144.0.0 130.144.0.64 130.144.0.128
255.255.255.128 /25 7 bits 126 130.144.0.0 130.144.0.128 130.144.1.0
255.255.255.0 /24 8 bits 254 130.144.0.0 130.144.1.0 130.144.2.0
255.255.254.0 /23 9 bits 510 130.144.0.0 130.144.2.0 130.144.4.0
255.255.252.0 /22 10 bits 1022 130.144.0.0 130.144.4.0 130.144.8.0
255.255.248.0 /21 11 bits 2046 130.144.0.0 130.144.8.0 130.144.16.0
255.255.240.0 /20 12 bits 4096 130.144.0.0 130.144.16.0 130.144.32.0
255.255.224.0 /19 13 bits 8190 130.144.0.0 130.144.32.0 130.144.64.0
255.255.192.0 /18 14 bits 16382 130.144.0.0 130.144.64.0 130.144.128.0
255.255.128.0 /17 15 bits 32766 130.144.0.0 130.144.128.0 130.145.0.0
255.255.0.0 /16 16 bits 65534 130.144.0.0 130.145.0.0 130.146.0.0

! The slash notation is the total number of 1% if you convert the subnet-mask to binary code

2 number of hosts is the size of the subnet minus 2 (subnet- and broadcast-address)



